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CNS-Anatomy  [Jecitires

1. Parasympathetic gray column is confined to spinal cord segments?
a. Third cervical to first thoracic

b. Second cervical to first lumber

c. Ninth thoracic to first lumber

d. Second to fourth sacral

e. Second to fourth lumber

ANSWER: D

2. The end of the spinal cord is?
a. Cylindrical in shape
b. Triangular in shape
c. Tapering in shape
d. Pyriform in shape
e. Oval in shape
ANSWER: C
3. At adult, the spinal cord ends at?
a.L1/L2
b. L2/L3
c.L3/L4

d. L4/L5
e. Tip of the coccyx

ANSWER: A

4. The spinal cord begins? Select one:

a. As a continuation of the upper end of medulla oblongata
b. As a continuation of the lower end of medulla oblongata
c. AS a continuation of the pons

d. As a continuation of the midbrain

e. As a continuation of the medulla oblongata

ANSWER: B
5. Choice the wrong answer :
Answer : Spinal cord occupied the whole length of vertebral column



